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(1/2)(9)(12) = 54 sq. in.

(1/2)(30)(7) = 105 sq. .

3x5x5

152 = 225 sq. ft.
[T S N 8
2710 20 5

3279 +7 = 468 :;3-

2)

14)

15)

16)
17)

18)
19)

20)

E N
e

—
(o]
B
o
+
-—
ld.
]
e

3}

wihy @
—
—

—_
o

-+

Il

+
wlw
+

w|

I ©jo wlw

+ +
NN O wlw
I
—
©|oo

N N
(=]

[oe] +
N

(=]

l

[o¢]

N

(=]

W
N
w
n
=1

N
—
N
—_—
w “I

(1/2)(6)(4) = 12 sq. ft.
(1/2)(8)(6) = 24 sq. in.

%(21)(5) =52 % sq. ft.

15:3,5, 15
20:2,4,5,10, 20
GCF=5
15x15=225

1,1,1_3_41;
2+2+2 > 12|n.

256 x 38 = 9,728 sq. yd.
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6766
10,10, 7 o7
10770 10 ~ 270
1.,5_5 . 5_1
5630 5 6
2,4_38
35~ 15
122 .2_1
3 8 2472°12
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12 <12
21,8
56 ~ 56
85 _ 36
99 ~ 99
9x3=27sq. ft.

9+3+9+3=241t.

172 =289 sq. in.

17 +17 +17 +17 =68 in.
(1/2)(16)(12) = 96 sq. ft.
12 + 16 + 20 = 48 ft.
2x2x5x5

20 x 20 =400

80 ., 8 _80+8 .
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